CRS: Journey of Life Scenarios for Camp Committee

	District Name:
	XXX
	
	Division ID:
	___ ___
	
	Village Name:
	YYY
	
	Village ID:
	_____ ____



	Member Index No.:
	



Baseline |_|		post workshop |_|		Final: 6-8 months Journey of Life |_|



	Symbol
	Scenarios
	Can YOU do something about this situation right now?
	Can this VMRC do something about this situation right now?

	
	Sulochana and Guna are married. Sulochana wants to buy a new fridge as their old one is not working well.  The discussion began well but then Guna felt that the fridge could not be bought for another 6 months because they did not have enough money now.  When Sulochana gave examples of where they could save money, she mentioned that if Guna drank alcohol less, they could save more quickly. Guna felt angry by this comment and decided to slap her, thinking, “only then will she understand”
	
|_|1  This situation is not a problem
|_|2 No, I can’t  (X)
|_|3 Yes, I can  (√)

	
|_|1  This situation is not a problem
|_|2 No, we can’t  (X)
|_|3 Yes, we can  (√)


	
	Chandru’s wife Karuna was interested in painting and art work. Sometimes, after lunch, instead of washing the dishes, she would sit down to stich a beautiful design.  Chandru would come home from work and find the dirty dishes. After this continued for 3 to 4 month, Chandru finally lost his temper and hit Karuna saying, “a women’s job is to keep things clean and tidy. Why is she behaving so irresponsibly?”
	
|_|1  This situation is not a problem
|_|2 No, I can’t  (X)
|_|3 Yes, I can  (√)

	
|_|1  This situation is not a problem
|_|2 No, we can’t  (X)
|_|3 Yes, we can  (√)


	
	Parents of a 14 years old girl approached you saying that their daughter has told them about a man in the camp bothering her when she is coming back from school in the afternoons. 
	
|_|1  This situation is not a problem
|_|2 No, I can’t  (X)
|_|3 Yes, I can  (√)

	
|_|1  This situation is not a problem
|_|2 No, we can’t  (X)
|_|3 Yes, we can  (√)


	
	Raja is married and ended up having children while he was still living in the camp; something he had not thought would happen.  Now the children are old enough to go to school and the camp authorities are asking for birth certificates for the children.  When Raja tried to get the birth certificates, he was asked to show his marriage certificate which he does not have.  
	
|_|1  This situation is not a problem
|_|2 No, I can’t  (X)
|_|3 Yes, I can  (√)

	
|_|1  This situation is not a problem
|_|2 No, we can’t  (X)
|_|3 Yes, we can  (√)


	
	Kavya travels by bus to school.  Often, there is a boy who tries to touch her by standing close to her.  When she tell her mother about this, her mother replies that this can often happen and there is no need to complain about it or talk to  anyone else about this.
	
|_|1  This situation is not a problem
|_|2 No, I can’t  (X)
|_|3 Yes, I can  (√)

	
|_|1  This situation is not a problem
|_|2 No, we can’t  (X)
|_|3 Yes, we can  (√)


	
	A family has two children left in school, a boy and a girl.  The girl is a year ahead of the boy and doing very well (performing well/getting good grades). The family has struggled with a poor harvest this year and can only afford to send one child to school.  They choose to send the boy. 
	
|_|1  This situation is not a problem
|_|2 No, I can’t  (X)
|_|3 Yes, I can  (√)

	
|_|1  This situation is not a problem
|_|2 No, we can’t  (X)
|_|3 Yes, we can  (√)


	
	A family is struggling to feed itself.  As broker comes to town and tells the father that he knows of a well to do/wealthy family in town that is looking for a servant.  They ask their oldest daughter, who is 12, to go to town to earn money as a servant.  
	
|_|1  This situation is not a problem
|_|2 No, I can’t  (X)
|_|3 Yes, I can  (√)

	
|_|1  This situation is not a problem
|_|2 No, we can’t  (X)
|_|3 Yes, we can  (√)


	
	A family has 3 daughters ages 7, 11, and 13; they decide to marry the one of the daughters off now to reduce the dowry.
	
|_|1  This situation is not a problem
|_|2 No, I can’t  (X)
|_|3 Yes, I can  (√)

	
|_|1  This situation is not a problem
|_|2 No, we can’t  (X)
|_|3 Yes, we can  (√)


	[bookmark: _GoBack]
	A family asks their oldest son aged 13 to go to town to work in a factory to earn money for his sister’s dowry.
	
|_|1  This situation is not a problem
|_|2 No, I can’t  (X)
|_|3 Yes, I can  (√)

	
|_|1  This situation is not a problem
|_|2 No, we can’t  (X)
|_|3 Yes, we can  (√)


	
	A child lives in a house where the father is often drunk and the mother looks very sad.  
	
|_|1  This situation is not a problem
|_|2 No, I can’t  (X)
|_|3 Yes, I can  (√)

	
|_|1  This situation is not a problem
|_|2 No, we can’t  (X)
|_|3 Yes, we can  (√)


	
	A 15 year old girl returns to the village after having been away for a year in a big city.  She seems changed: she is now very quiet and does not want to attend school.  
	
|_|1  This situation is not a problem
|_|2 No, I can’t  (X)
|_|3 Yes, I can  (√)

	
|_|1  This situation is not a problem
|_|2 No, we can’t  (X)
|_|3 Yes, we can  (√)


	
	You noticed that last month there were two students who dropped out at the school and begun work at the brick kiln.
	
|_|1  This situation is not a problem
|_|2 No, I can’t  (X)
|_|3 Yes, I can  (√)

	
|_|1  This situation is not a problem
|_|2 No, we can’t  (X)
|_|3 Yes, we can  (√)
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